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a. January
1^ 1890 f250 was put a* interest April 13, 189L

It had amounted to f269.26. What was the rate of interest ? ^
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«. If a man's quarterly income is f460, what is his principal,
bearing interest at 6% ?

" "»'*F»u,

7. A house which cost f4600 rents for »380 a year If the
insurance, taxes, and repairs amount to »160 yearly, what rate of
interest does it pay ?

^ .y, «•. ««« oi

a I Wrowed, September 1, 1893, $400 at ^% interest It

debt^'^fdr
'"*''''* """''^ '' amounted tu f460. When was the

9. A man placed a certain sum of money on interest at 6^ when
his son was born. On the son's 18th birthdry it had amounted atsimple interest to fino. What sum was put on interest ?

»f «t T *^^ ^*^/* ""^^"^ *^' *^ ""^^^ P«* »* 8i«»Ple interest
at 6% January 20, 1893, amounted to #640 .

11. When was $800 put at interest at 5%, which January 1.1894, amounted to $900 ? ^ '

12. Mr. Brown owps stock which pays 7% annually. He receives
quarterly $43.76. What sum is invT/ted ?

«e receives

•
"' ^''Yrjf'

"""* ^ P"* ** ^"*«''^«* ** «56 to have a monthly
income of $60 ? How much to have $3 a day 9

^
a monthly income of $12.80. What is the rate of interest ?

15. A man pays $460 a year rent for a house worth $6600.Will he gam or lose, and how much, in 10 years, if he borrowsmoney at 5% to buy the house, and the Lrage ex^n^e f!r
insurance, taxes, and repairs is 2^% of the cost of tl^T house?


